Physics 11 Unit 1 - Kinematics, Displacement, Change in Velocity - Worksheet #2
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1. A car takes 46 mins to drive 72 km to Kamloops. How fast is the car going? 7°
(o In
\ = d ~ FaKnm - 93.9 K/ /(m/hp
A JHoel hr or m/s T
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2760 sec
2. A runner travels at 7.7 m/s for 1 min. How far does the runner travel?

d=Vvt=GFD(eoxd = fedm

3. A plane travels to Vancouver (390 km to the airport) at a speed of 350 km/hr. How long
does the trip take?

'l’:g!_—.:.gqowm - l-” hDMf’S'
V.o 350K,

4. Convert 95 km/hr to m/s (Show your working)

| he |ooom
5 Km x 1000M = Q4.1 s
! % g 3600 sec L Km

5. How many seconds are in 1.2 hours? (Show your working)
- 5.
1.2 houws x 3600 by = 43205
| hour

6. Convert 23 m/s into km/hr (Show your working)

" 3600sec lKm . Q3.8 K’”\/kr
a3 /5 X ‘ bhowr |ooom
7. How many meters in 1.5 km? (Show your working)

.5 Km x 1000m — [500m
| Km
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8. A woman walks 20 m North and then 11 m South. Find the total distance travelled and the

(resultant) displacement. LP
' = a0+l =31m
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9. Mr. Coates walks 5 steps forward (+) and 3 steps backwards (-), find the total distance
travelled and the displacement.
P b543=8sky

x/ ) y/ /‘57‘a/IC e

5
R= & ->dir/o/a@meﬂf

10. Mr. Coates walks 12 steps North and then 9 steps West. Find the total distance travelled
and the displacement.
C1a+q = al steas
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11. A boat crosses a river with a speed of 10 m/s directly across the river. The speed of the
current is 4 m/s. Find the resultant velocity of the boat.

Hmfs
W R 44t
R\, 1On/s R=10.8mp
- Funb= Y
@v>9=éll.s”
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12. A boat crosses a 90 m wide river with a speed of 17 m/s across the river. The speed of
the river is 3 m/s.

a) How long does it take the boat to cross the river?

malle sure velocig andh &e(ffme /ﬂu‘fcﬁ ( have 7”\2 Janme a/f/wﬂn)

’f‘:_d, = @- = 5"&‘7.5'66
v |7

b) How far down the river does the boat drift?

d =Vt 1(3) (5.29)= /57 m

13. A boat travelling at 10 m/s wants to cross a 60 m river with a current of 3 m/s and not
drift down stream at all.

At what angle must the boat point up stream? 3

Jane sinb = O < 24 o0

V\df e

1oughT o
_g-3

©-~|t.5°

How long does it take the boat to cross the river?
Lo neech o nd \)e,\ocib (pe«.ml'b/ﬁ’ ofoss rivel -
| 2
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=3 9,539
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14. A car is travelling at 25 m/s and slows to 20 m/s. Find the change in velocity.

AV =Ve-~Vi= 20-3d5 = - 5 mys

15. A car is travelling at 25 m/s and accelerates to 30 m/s. Find the change in velocity.

AV —-:V_F-\/; = 30-35 = S

16. A car is travelling North at 25 m/s and after colliding with a truck is travelling 10 m/s
south. Find the change in velocity.

call North ® oM south @

AV = Vp=Vi= -0 -35 = —35 m/s

17. A ball is thrown at 12 m/s and sticks to the wall upon impact. Find the change in velocity.

A\/—.-,\/F—\/; ~ O-13 = 1A m/s

18. A ball is thrown at 13 m/s and bounces off the wall at 8 m/s. Find the change in velocity.

® ©

Y I = ~2I
AVT_\/’F__\/; = g '3 m/b—
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